EARAROBEEIERT — 2 N— IBISH —F

20145118168 (B) SHE=4H

SR N

5

(E&

) [5%E] B

‘ [R1%] & ‘ [REBE] — | Z (%) 20000 B

[A~&£] 1 7% :7,000,000  ~ 23 :2,800,000 33 :1,800,000” 43 :1,100,000F ~ 5 j& :700,000 M

& % B mEBR Mk ME BF (&) 24 L (&%) | @BIBf | £3F |SIEE | AR | AE | R FIRB) / BE / £ERS
S NEW 4 2 | R L=T 2:02.5 2-2-2 | 34.8|77.1 | 1 464 | WIIFH (FR)
118|8|H— K17V >Y 55.0 o - | ) a=Fx-2257
R:Fq4=T1>n7 8 B:LTsNF—=FK TALTAT7—L4L
# o2 | BREM 2:02.7 9-9-8 [34.3| 75.1 | 5 | 468 |fREEAL (i)
2177 AL TIV=T 55.0 (1 1/4) (—) (B) ¥v0y hT7—L
ARV w4 —7 B:hZav b (B) #HAEIA-FKL—Ya>AE77
> 2. 4 o2 | FEIE 2:02.9 6-5-5 34.7| 729 | 6 450 | AREEL (EH)
EH 2| RT Iy F I 250 i) o Al
LNn—ErTrv— B:TN—1)yTUN= B2 %Y K
.= = B 2 | BiElE 2:03.4 4-3-3 | 35.5| 63.8 | 4 410 | FEEX (FH)
418l9|71>7477 54.0 3) (=) (Hi)ﬁ"J*f‘/
LN—ErTy— BAXRETIFF ARXRETa—-T7—L
S g,y = o2 | KeEAA 2:03.4 1-1-1 | 35.7] 61.9 | 2 478 | REBE (i)
5 6| XTI RILTTTEN 55.0 (7E) (—) | @) 45Ty K957 5747
R:TZv 7848 B:XY4—-TFENL il @l
s 2 | ALREF 2:03.6 5-5-5 | 35.5| 62.4 | 3 442 | KTTERE (Ei8)
6[1]1|WYIA 54.0 RV o | T F 5Ty kL
L:ZFATd—IK B:ot—2—L-—> i EE
N f 2 | AEBHIR 2:03.8 2-3-3 | 35.8| 58.1| 9 450 | EFME— (EH)
7155 |7T1—FXE-I 540 (4 1/4) oy |#rEx
Z:arFaM4y b B:XIE-N Ev Ly RT77—L4
o2 | BEEMHZ 2:04.2 8-8-8 |35.8|55.3 | 8 464 | HFHT (ER)
8 3 24 k 55.0 (2 1/2) (=) BT
R:V2RYJUZXTR B:xFFINK N E%%%
N 4 2 | IHRS 2:04.6 6-5-5 36.5| 49.6 | 7 462 | PERA (EH)
9 4 JxA by d— 55.0 (2 1/2) (-) fE| Bt 52
R:aArFaAy b BiU—HLTU—Y BEZ &Y K
@ 71 L
) 46.9-34.8
NO>24 L | 13.3-12.3-12.3-12.7-12.7-12.3-12.1-11.4-11.6-11.8
® I —F—@EBIERL
12—7—
20—7— 6(5,8)9,1(2,4)3,7
30—4— (6,8) (5,9) (1,2,4)3,7
4A0—F— (¥6,8) (5,9) (1,2,4) (3,7)
[ RN
B OB 8 190 714K 7-8 460M e & 7-8 830M &R 2-7-8 3,780
7 B 8 120 2-8 630 | | & = 7-8 1,120/ | | 3=& 8-7-2 12,870
7 240H 2-7 1,490H B H 8-7 1,450
2 310H

ABICOVWTRDTEEERROODE. TR LIV,




